ohe F 87 e A9
1 1
@x5+(x2)3:; ®y+y3:}§
22 6. 5
@Z—2=1 @ dv+a®=a

® b9 +p10 =1







3. 16'=a A 1, 64° & a 2 ol8lo] Leholet,

=
[=

>
> HE: 4a




)

)

ol

3, 6, 9, 129] 47]o]r},




o)
Mo dlo
N O{N
M
o
P>
4
=
Il
£
[N
\]
i
£
B
Hu
kil
i
o,
i)
o
_?lg
N
2

D 100x - x @ 100x - 10x 3)1000x - 10x

@ 1000x - 100x ® 10000x - 100x

~&B

x = 1.327 oA x = 1.3272727 - -
10002=1327,2727-
-) 10z= 13,2727

990z=1314
SA419] A& 9J3) 1000x - 10x = 1314
o]e} Zro] sjjof A4 o]sf FEo] glojxith




3 .
BEA S <x <208 WENTE A5 28] A9

@ o7 @ 17 @ 27 @)3 7Y ® 47

.27
29=—=3
9
i<x<3
10
Lx=1, 2, 3




ohe AL BESHE x o] g Folelet,

(25))6—2 — (2—1)2x—4
25x—10 — 2—2x+4
5x—10=-2x+14
Tx =14

SLx=2




& 452 v e 22

@1.4 @ 15 ® 145

@ 1.54

® 1.45

13+9=14444..-=14




AgA| o] Bul7} 27456 cm® @ W, 3F A2 9] Zo]=?

@351219 cm @ 94%bcm ® 3a®bcm

@ 6a3bcm ® 9a3bcm

(I5wA] 21)) = (@EA ] Dol olnz
27a%h® = (3a%b)3




10. 02x+05=1 < o, x o] S F5}odzt.
» cf:

> He x=2

B

0.2x+05=1
2 5
§x+§—1
2

2. _4
9" 9

)




